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Spørgsmål 3.1

public void printLaan(double gaeld, double mdlrente, double mdlbelob)

{


Laan mitlaan(gaeld, mdlrente, mdlbelob);


int mdr;


double rb;


printer.println("Afviklingsrapport");


printer.println("Antal mdr    Ydelse    Renter    Afdrag    Ny Restgaeld");


mdr = 0;


while (mitlaan.getRestgaeld() > 0.001)


{



mdr = mdr + 1;



mitlaan.afdrag();



rb = mitlaan.getSidsterentebelob();



printer.println(mdr);



printer.println(mitlaan.getSidsteydelse());



printer.println(rb);



printer.println(mitlaan.getSidsteydelse() - rb);



printer.println(mitlaan.getRestgaeld());



printer.println("");


}

}

OBS: Det er en fejl at lave en for-løkke på mitlaan.getAntalMdr() da dette er udefineret iflg. konstruktoren. 





























